MOUNTING INFORMATION - 1-1/8 1-1/8 gﬂ/f
11/32 MAX. (BB e (28.6)“" i‘" 26.2) I:ll/lﬁ
- For Fire Rated Exit Devices: (8.7) I‘_ (:) 1-11 (17.5)
Sex nuts or through bolts — (42.9) 1-3/8
are required for wood core, wood b6 ] (34.9) |
and plastic covered composite doors, { [ ! ] T
and any type of door without 1-5/32 i f 1
reinforcements. (29.4) 1 VERTICAL ROD| 1711716 e
(42.9) 12
NOTES - f | AND cuTOur (12.7)
1. BACKSET IS MEASURED FROM CENTERLINE OF BEVEL e ~— I ({327)
WHICH IS CENTERPOINT DF DOOR THICKNESS. '
- o 578 N
- (15.9) - T 4 1-17/32
. MINIMUM STILE 4~1/8 (104.8) 3
2. RECOMMENDED M STILE 8 o 1 r—ﬂg* P
3. FOR PREPARATION OF TRIM, REFER TO (1?632) [ i
SEPARATE TEMPLATE. TOP LATCH -3 (?gag)
4. DIMENSIONS GIVEN IN INCHES AND (MM). CLTOUT DETAIL — (2;/3) '
5. REFER TO TEMPLATE 730597 FOR SOB ™S sTP suRFACE ~ T0P LATCH DETAIL
OPTIONAL BOTTOM THRESHOLD STRIKE 304F34, SP BEVE% ,
1-3/8 (34.9) 178 IN 2
D REMARKS ™ MINTMUM STOP (3.2 (50.8)
7/16 (11.1)| WITHOUT SILENCERS
3/8 (3.5) | WITH SILENCERS D— 2-3/4 BACKSET
— (69.9)
#12-24 TAP FOR MACHINE SCREW : (SEE NOTE 1)
(4 PLACES) . STRIKE/
3/8 DIA. :\. i FRAME STOP 4' VERTICAL ROD
(9.5)
2172 ’ 174 DIA. (6.4) THRU
CC (38.1> ! / CLEARANCE FOR #12-24
—E=) - - - - - e MACHINE SCREW
SR 1 } } //’é— (4 PLACES MARKED “C*)
2-9/16 e _ 2-3/8
1-21/32 (65.1) C (60.3)
t42.1) | L 7-1/2
=318 0 uACTIVE case HoLes
ENLARGE TO 3/8 DIA. (9‘5)——«////, B — (30.2) 70 BE LOCATED

THIS SIDE ONLY FOR SEX NUTS
(4 PLACES MARKED "CC)

_

WHEN ATTACHING
HARDWARE TO DOOR

#12 TAPPING SCREW - TYPE “A”
(8 PLACES MARKED "B")

6

38 5.8
9.3 7.9y
AA i
SEX NUT ——i — —_
DETAIL ?

(19.1» AA

SEX NUT APPLICATIONS: —
ENLARGE TO 3/8 DIA. (9.5)

374
9.1

=172
(38.1)

THIS SIDE ONLY yal -
(8 PLACES MARKED “AA") ' crosseaR
NOTE: SEX NUTS NOT P R MACHINE SCREW
REOUIRED FOR ACTIVE CASE
WHEN OUTSIDE TRIM IS USED  g7- —— SEX NUT APPLICATION:
THIS SIDE (939.8) 174 DIA. (6.4) THRU-CLEARANCE
TOWARDS DOOR FRBELE@UE I FDRP#12—24 MACHINE SCREW
~ (8 PLACES MARKED “A” )
= 057y |omeRurse 1318 o
SPECIFIED (G{l)/g) l (30.2)
2-7/8 2!8 f | ' LHR SHOWN
- -1/
(73) (54) CC (2';2/{5) C— B RHR DPPDSITE
| [ & b - . \?$
EEN fsmmz —T‘\} ‘ e
. SCREWS >
| f 8 ’ SN\ FINISHED FLODR
bodie 5178) T ase LGS | =
. M ry .
P STRIKE (6.4) INSIDE FACE OF DOOR
I | nseoee— LTNE G Y |[ERERS
RESPONSIBILITY

Door and Frame Manufacturers are
responsible for providing adequate
construction or reinforcenments for

proper installation of hardware shown.
All architectural builders hardware nust
be installed on properly reinforced doors
ond frames, regardless of the type,
naterial, or method of construction.

CROSSBAR VERTICAL ROD DEVICE

ED6400A Series

FIRE RATED

RGN

DO _NOT _SCALE DRAWI
SPREES T30506-1 ™ DLO F"‘&f

™ 1-98 =" T30596-2




